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O x+6=2x-T7T+x @ 4(x+3)=12
@ F-2(x+1)=1-x @ x-1=-x+1

® x(x-5)=10x+x%>+1



® 3(1-x)-3x=0
@ 2+4+x-2x2=1-2x2

B x+24+44=x+6

@ 4x+8=8+4x

@ 4 =3x+ 4x2



® 2(1-x)-3x=0
@ 24+ x-2x2=1+2x2

B 3x+24+4=x+6<+2x

@ 4dx+8=4(x+2)

@ —2x = 3x + 4x2
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4x-3(1—-ax)=-5+7x 7Fx o &
a o] 2127

Da=1 @ a=3

@ a=+-1 ® a+3

@ azl



@D 4x-1=2x @ x2-x4+1=0 ® 5x+2

@gx—ﬁ—lzél ® 6x>x+1
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@D 1+4+4x=-3
® 6-2x=14

® 3x+2=2(x+5)

@ -3x+3=0

@ 3x-2=38
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@® x-3=-3-x]0]

@ 6x—4=2x+83

@ 2(x-1)+3=-3x-4[-1]

@ 6x+3=-15[-2]

® x-4
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x7} Agigto] golstel it 4.9] wis=Ql

v 2] g ohe shube?
® 2x-5=3 @ -x+4=0

@2:6-1)=6 O tr-1=2



